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1. BREBEEROE

(1) BEINE
BEREERRK 0 0 0
BEBESIAIE (BRESH) 0 0 0
TREME 13, 000, 000 4, 000, 000 17, 000, 000
SREME (REH) 13, 000, 000 4, 000, 000 17, 000, 000
HE 2% 0 0 0
ZHEHE 0 0 0
RE IS A 13, 000, 000 4, 000, 000 17, 000, 000

(2) BEEH
EEE 13, 240, 000 13, 240, 000
W 7EBh Rk & 5, 000, 000 5, 000, 000
T EREE RS 1, 200, 000 1, 200, 000
BEHKE RS 400, 000 400, 000
BEREE 1, 000, 000 1, 000, 000
REREE 40, 000 40, 000
WwEFY 4,130, 000 4,130, 000
EER 630, 000 630, 000
DIEAYIC SIS =g 70, 000 70, 000
BEERE 175, 000 175, 000
h-bn" = EEE 210, 000 210, 000
Sp)lE= 210, 000 210, 000
HEEME 70, 000 70, 000
HE 105, 000 105, 000
EHE 3, 070, 000 3, 070, 000
REREE 160, 000 160, 000
SR 50, 000 50, 000
wmElFEY 1, 770, 000 1, 770, 000
EEE 270, 000 270, 000
FEBFOKELE 30, 000 30, 000
BIEERE 75, 000 75, 000
T=bn" =V EBEE 90, 000 90, 000
EHTIE=¢ 90, 000 90, 000
itk 450, 000 450, 000
XEE 10, 000 10, 000
HEEME 30, 000 30, 000
Mg 45, 000 45, 000
REER 13, 240, 000 3, 070, 000 16, 310, 000
L HA R AR A 240, 000 930, 000 690, 000
S FHER AT Y H — X IR R EE 1 AR A 240, 000 930, 000 690, 000
S FHREMH 240, 000 A 240, 000 0
W — R IR Mk B PE SRR 0 690, 000 690, 000
— X IEBRM ER B RS 0 4,100, 000 4, 100, 000
— AR IERRR IR E S 0 4, 790, 000 4, 790, 000

0 BEEWRMESEBOR

FrEEEERE 0 0 0
FEBEZ IR 0 0 0
ZEEF & 13, 000, 000 4, 000, 000 17, 000, 000
ZTHREME 13, 000, 000 4, 000, 000 17, 000, 000
— X IEBRBEE ~DIREEE A 13,000, 000 A 4,000, 000 A 17, 000, 000
X H+E T IE MR BA PEHE AR 0 0 0
EEERMENEES 11, 000, 000 0 11, 000, 000
FEEERMEH RS 11, 000, 000 0 11, 000, 000
I ERMESEES 11, 000, 000 4,790, 000 15, 790, 000




